
TUTU  T3

A001

35x

13

A002

35x

A003

30x
8x35

A005

4x
A020

11x
7x50

A027

3x
L-450

A007

18x
6x13 3,5x16

A009

14x

A006

13x
3,5x16

A053

4x

A031

1x

#4

A052

3xL-50

A048

10x
M4x25

A060

2x

1/5

A036

1x

A039

1x
M6x15

A061

2x

A011

4x

A062

2x

A018

4x16

A057

16x



1

2

MAX 15kg

MAX 5kg

A

B

C
D

F

E

G

K

I

H

K

K

L M

N
O P

A

B

B

C

MAX 5kg

2/5

10

!

A003

18x
8x35

A002

2x

A027

3x
L-450

A007

18x
6x13

A001

6x

13

Zabezpečení vkládejte
až po umístění zásuvky
na pojezdy.

Insert the anti-tip device
only after the drawer is
mounted on the slides

!

A011

4x

I



3

4

A020

10x
7x50

A031

1x

#4

A053

4x

1

2

2

A001

4x

13

A020

1x
7x50

A031

1x

#4

A

B

C

D

E

D

E

A

B

C

3/5

4x16

A057

16x



5
A002

9x

2

1A006

4x
3,5x16

D

G

F

E

F

E

D

D
B

GA

4/5

6

x3
A004

4x

A002

8x

A006

3x
3,5x16

A001

8x

13

K

L

M

N
P

O

O

M

M M

P

PL

N

L

A048

6x
M4x25 L

2mm



8

3,5x16

A009

8x

3,5x16

A009

6x

A052

3xL-50

A048

4x
M4x25

A060

2x

K

I

K

K

H

H

A

5/5

7 A005

4x

F

E

A

A036

1x

A039

1x
M6x15

A061

2x

A062

2x

I


